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QUESTION 1

Users in several departments are reportng connectvity problems. The technician examines the computer and fnds the
following setngs. The IP address is 10.0.1.0 with a subnet mask of 255.255.252.0. The default gateway is 10.0.1.1 and
the DNS server is 10.0.0.15. A user can connect to the internet but not servers on other internal subnets. The technician
is not able to connect with a server with an IP of 10.0.2.25. Which of the following is MOST likely the problem?

A. Default gateway

B. Duplicate IP address

C. Wrong DNS

D. Subnet mask

Correct Answer: D

QUESTION 2

An administrator edits the network frewall confguraton. Afer editng the confguratonf the administrator logs the date and
tme of the edit and why it was performed in the frewall documentaton. Which of the following BEST describes these
actons?

A. Asset management

B. Baselines

C. Network maps

D. Change management

Correct Answer: D

QUESTION 3

Which of the following spreads out each of the individual wires of a UTP cable onto their own metal connector?
A. BNC connecton

B. 110 block

C. Plenum

D. LC connector

Correct Answer: B

QUESTION 4
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In an environment with STP disabledf which of the following is the MOST likely cause of the exponental increase in
repeated packets transferred through the network?

A. Incorrect subnet mask
B. Mismatched MTU

C. Switching loop

D. VLAN mismatch

Correct Answer: C

QUESTION 5

A user is getng very weak signals while trying to connect to the wireless. Which of the following should the user do to
help with signal strength?

A. Call the wireless provider and ask for a T3 circuit.

B. Move the wireless router to a beter locaton where line of sight is obtained.

C. Reinstall the operatng system to the PC to ensure the newest patches are installed.
D. Install a hub to ensure there is a clear path for the cables to run.

Correct Answer: B
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